
RPK 007 Mounting Kit
INSTALLATION INSTRUCTIONS
For the Blue POD and Blue POD Solo    

  

Figure 1: The Mounting Brackets 

The Blue POD and Blue POD Solo can be mounted in a 
variety of positions, including underneath a table or on a 
wall. The device can be mounted upside down or vertically, if 
necessary.

Kit Includes

•	 (2) Mounting Brackets [BKT 036]

•	 (4) #6 x 3/4” self-tapping screws [FSS 668 BK]

•	 (4) #6-32 x 3/8” screws [FSM 638 BK]

Secured Surface Mounting
For mounting on top of a table, on a shelf, or other positions where the device sits on the top of a surface.

1.	 Attach the brackets to the device with the four shorter #6-32 x 3/8” screws with the flat edge of the bracket facing 
downward.

2.	 Drill 3/32” pilot holes into the table or shelf, if necessary.

3.	 If needed, screw the longer #6 x 3/4” screws into the surface the device is being mounted to.

Figure 2: Insert the screws as shown for mounting on top of a surface.
MAN 243A

https://www.lowes.com/projects/woodworking-and-crafts/how-to-drill-a-pilot-hole/project


Suspended/Hanging Mounting
For mounting underneath a table, counter, or other positions where the device is hanging below the surface.

1.	 Attach the brackets to the device with the four shorter #6-32 x 3/8” screws with the flat edge of the bracket facing upward.

2.	 Drill 3/32” pilot holes into the table or counter, if necessary.

3.	 Screw the longer #6 x 3/4” screws into the surface the device is being mounted to.

Figure 3: Insert the screws as shown for mounting underneath a surface.

Recycling Instructions
Help Williams AV protect the environment! Please take the time to dispose of your equipment properly.

Please Recycle
Please do NOT dispose of your equipment in the household trash. Please take the equipment to a electronics recycling 
center for proper disposal.

RPK 007 Mounting Kit

info@williamsav.com  /  www.williamsav.com
800-843-3544  /  INTL: +1-952-943-2252

© 2019, Williams AV, LLC MAN 243A 

https://www.lowes.com/projects/woodworking-and-crafts/how-to-drill-a-pilot-hole/project

